Appendix 3

Introduction

The development of SHSK was started in 1994. Initially, there are 2 papers:
Paper | (Basic knowledge and Application Principles of Written Chinese) and Paper 2
(Writing Tasks) and the examination time is 2 hours and 45 minutes. The SHSK Paper
1 has been reconstructed in recent years. After a study of the latest research findings
on areas such as Linguistic, Psycholinguistics, Sociolinguistics and Edumetrics, the

content of Paper 1 was modified.

In 2007, the Chinese Cloze test was incorporated in the SHSK as Paper 2. Since

then, there are 3 papers in the SHSK and the examination time is 2 and a half hour,

The 3 papers of the SHSK are : Paper 1 (Basic knowledge and Application
Principles of Written Chinese), Paper 2 (Cloze Test) and Paper 3 (Writing Tasks). The
content, format and requirement of each part of the test will be explained in the

following sections.

Paper 1 (Basic knowledoe and Application Principles of Written Chinese)

In Paper 1, candidates have 45 minutes to answer 45 questions. The questions
cover the following 5 areas:
a. Functional alternation of sentence patterns(r){#HHa)
Linkage of textual meaning(ZK# - N 70)
Retrieval of information order(BEfEFE 1))
Identification of semantic redundancy(JHEEIT2)

& & o oo

Text comprehension(F 2 215)

a. Functional alternation of sentence patterns: There are 10 multiple-choice
questions in which candidates have to select one appropriate sentence from the 4
options. This is to assess how well the candidates can identify various
presentations of the sentences and choose the option which can best convey the

message.

Below is one of the sample questions:

Bl—WZE > AREBE&)AKE BIHREERE « fldo !
AWMEETHERTSE  —E2K —E 288 - (¥t
BWE HT—iL—ahE XFHE - (BE%)
WE T HF(-58) FHEa0nER ERahdnikEri it
AEEE R A TFAEIEGEIREG -
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1. MWRERE - EERRUIVE  8RNEIREETEER -
BRYER - REOWREHRNET -
A~ MOEEEREE ¢
B~ b EIRREIL IR -
Cr b ZEHREVIVUEA -
D NEREXNERUINEEA -

b. Linkage of textual meaning: Part of a passage is deleted. Candidates have to
choose a phase or a sentence that could link up the whole passage in a sensible
manner which fits the context of the text meaning. There are 10 multiple-choice
questions. In each question 4 options are provided and the candidates have to

select one appropriate answer.

Below is one of the sample questions:

RAETHEEG-10BERTBEENES B LT T4
BE L R EEEERG TR -

2. R WIEERaoSEFSE CEEEERE BTH
FEERY  RPE -
A HIE NG ER - ERER
B FRE/ LB LUBRR
C. REBMELHEHLENIIE
D i RETSHMEER AR/ RS

c. Retrieval of information order: There are 10 questions in this part. In each
question, candidates have to rearrange the order of the sentences to form a logical

text.
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Below is one of the sample questions:
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d. Identification of semantic redundancy: In this part, candidates have to identify
the semantic redundancy in a text. This requires the candidates to fully understand

the core meaning of the paragraph so as to decide whether the 10 underlined parts
have to be retained or can be deleted.
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Below is one of the sample questions:

T XF@ -5 ByFETUMEMABEFLANEIENE?HAZS
b odmkE AR IR IR 6 BASES ¢
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e. Text comprehension: In this part, after reading a comprehension passage,
candidates have to answer 5 multiple-choice questions. In each question, they
need to choose 1 from the 4 alternatives. This is to examine the candidates’ ability
in grasping information from the text and their accuracy in understanding the

content of the passage.

Below is one of the sample questions:

M TX 0 RABASAT-1 A ELRBEHER EZHE
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11.
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